
1/6

UPUTSTVO ZA MONTAŽU
Krevet 

BASIC 90

8
2
5

 m
m

2183 mm

941 m
m



9

10

10
11

11

12

UZNOŽJE 941x200x18

UZGLAVLJE 941x500x18

NOGA 4 238x200x18

PODNICA 400x100x18

NOGA 2 238x200x18

NOGA 3 238x200x18

OJAČANJE 
KRAĆE

400x70x18

BOČNE STRANE 2005x200x18

OJAČANJE 
DUŽE 

650x70x18

NAZIV ELEMENTA DIMENZIJE (mm) BR. KOM:

 2

 1

 1

 1

 2

 4

 3

 1

 1

4

3

1

2

5

6

7

8

9

MASKA
 UZGLAVLJA

941x165x18  210

11

238x200x18  1NOGA 111
10

10

7

6

8

8

5

59
1

2
4 3

5

2

4

1

3

6

7

8

9

10

11

šematski
prikaz

0

1

2

3

4

5

6

7

M6x12

x 8

M6x13

x 8

x 42

4x16

x 40

4x30

x 4

x 4

x 4

7x35

x 4

8x30

x 10

x 4

x 2

2/6



PRIKAZ POSTAVKE OKOVA 
NA ELEMENTE :

M6x12

x 8

M6x13

x 8

x 42

4x16

x 40

4x30

x 2

x 4

x 4

7x35

x 4

8x30

x 10

x 4

x 2

x 4

M6x12

x 2

M6x12

x 2

M6x13

x 2

M6x13

x 2

M6x12

x 2

M6x12

x 2

M6x13

x 2

M6x13

x 2

5
9

1

x 2

x 2

7x35

x 2

7x35

x 2

8x30

3

2

4

7

x 2

8x30

x 1x 4

4x25

072136

x 1x 4

4x25

072136

а

1-2mm

3/6



SKLAPANJE PROIZVODA :

4/6

2

3

4

1

x 4

4x16

x 6

4x30

x 3

4x30

x 3

4x30

x 3

4x30

x 3

4x30

x 3

4x30

5

5

6

6

8

8

7

8

10

9

5.

1.

2.

3. 4.

4x30

x 3

6. 7.

4x30

x 3

x 4 x 2

4x16

7

208 mm



5/6

а b

x 6

x 4

4x16

c

x 7

4x30

9

5

5

7

10

10

5

5

11

8. 9.

10. 11.

а

b

x 4

4x30

x 4

4x30

x 4

4x16

c



!

90kg

6/6


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

